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Waschkeller +

Wirtschaftskeller

Hausanschlussraum (HWR) ca. 16,24 m?
ca. 14,60 m*
Flur
ca. 7,37 m?
Abortgrube Nicht unterkellert
5,05 ! 1,05 ! !25 2,38
1,02 J51 ! 1,00° ! 56 ! 2,10° ’ 56 ’ 2,975

3,635

Ls7)

3,82

Grundriss M 1:100

Kellergeschoss
Flur
Waschkeller+HWR
Wirtschaftskeller
Abortgrube

Nicht unterkellert

Flache KG
Wohnflache Gesamt
Nutzflache Gesamt

7,37 m?
14,60 m?
16,24 m?

38,21 m?
. 180,77 m?
93,10 m?
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Erdgeschoss
Windfang
Hausflur

Flur

Bad

Kiche
Wohnen
Schlafen

Flache EG
Wohnflache Gesamt
Nutzflache Gesamt

ca.
ca.
ca.
ca.
ca.
ca.
ca.

ca.

ca

4,56 m?
4,37 m?
4,12 m?
5,33 m?
10,82 m?
16,16 m?
15,43 m?

60,79 m?
. 180,77 m?
93,10 m?
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1. Obergeschoss

Hausflur ca.
Flur ca.
Bad ca.
Kiche ca.
Wohnen ca.
Balkon (5,73 m?) ca.
Flache 1. OG ca.
Wohnflache Gesamt ca

Nutzflache Gesamt

ca.

4,15 m?
3,81 m?
4,64 m?
11,561 m?
33,01 m?
2,87 m?

59,99 m?
. 180,77 m?
93,10 m?
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2. Obergeschoss
Hausflur
Aufstieg DG

Flur

wWC

Schlafen 1
Schlafen 2
Schlafen 3

Flache 2. OG
Wohnflache Gesamt
Nutzflache Gesamt

ca.
ca.
ca.
ca.
ca.
ca.
ca.

ca.

ca

4,46 m?
2,81 m?
4,19 m?
2,10 m?
14,84 m?
16,36 m?
15,23 m?

59,99 m?
. 180,77 m?
93,10 m?



2,095

1,55 |

Dachboden
ca. 54,89 m?

6,71

2,86

]

1,84 ! 58 !

85

4,57

1,225

435\ ‘

3,10°

6,64

1,125
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Dachgeschoss
Dachboden

Flache DG
Wohnflache Gesamt
Nutzflache Gesamt

ca.

ca.

ca.

54,89 m?

54,89 m?
. 180,77 m?
93,10 m?



